MAR-AlsY 20272

Total No. of Questions : 5] SEAT No. :

P3352 Rae [Total No. of Pages : 4 B e T
[6027}-35 N
S.Y.M.CA., ”Vlanagement)
IT-35¢ CLOUD COMPUTING
(ZQZﬁ Pattern) (Semester -IIT)

[Max, Marks : 50

‘;'ndicate Jull marks.

2

thure%g {:gé Frig

Q1) Write; Cﬁ?‘}éct optlon (or) filling the blanks of following questmns [each V: Mark]
a) Broagﬂ‘y divide the cloud Architecture into? »\\w‘} |

b)

i)
i) KVM
¢)  Which of the following ri

1) Azure i) AWSE2

n) AWS EC3 A iv) All ofthe mentioned
d) Which of these.is Iden ty :n IAM?

)  Groups i) Users

iii) Roles

Level Agreement ?
1) Logging
i) Regulatory compilance

f)  The technology used to distribute service a/estgé"resources is referred

to as oy
i) CND i)~ 'CDN
i) CWD ﬁ\) All of the mentioned

PTO.



g) I[AMgroup:
)  Issame as IAM users ite

il) Can be used to specify pelfmssmn for a collection of users

i) Is truly an 1dcnt1ty *?

iv) Allofthes

h)  Which of the f@lf@wmg i$ more sophisticated load balancer ?

1) Worklga@&mana@ers ii) Workspace managers
1it) Ra,é% ,péce manag,ers iv) None of these
) Whi thez icﬂlowmc service provider provides the least apiount of
bui@;
K. ESAAS i) PAAS,
i) IA,AS iv) All (?fThe mentioned

J) Wif?ch of the following combumtlon 1s posmblu;m websphere ESB?
)~ XML/IMS NN ~ SOAP/JMS
iii) SOAP/HTTP w‘) Governance

k) What is the correct formula t@“ Icu;\ﬁc “the cost of a cloud computing
development N
%}

) Cost CLOUD = z\‘ﬂ
i) Cost CLOUD =

X \
””{ co:R\CLOUD/ Revenue + cost CLOUD)

‘”(umt ffost CLOUD/ Revenue — cost CLOUD)
iii) Cost CLOUD Wﬁ (umt cost CLOUDx Revenue — cost CLOUD)

iv) Noneofthe mentz@ned
)  What are the featureg «of docker
i)  EasyModeling
ity Placement /Affinity
m) #Docker was developed in
) 2012
i) 2013

n) How many different protocol types ar

SOA.
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p)

Q)

v

What ports does Docker registry use ?
i)  Port 3000
i) Port 8000

ii)  Port 5000

iv) None of the mentioned

i)  Cloud provisioning

iv) All of the mentioned

111) F6fs BlgIP s;zw:

messag transfer? i«‘l}
) Bus
iii) Binding

Type
iv) None of the mentioned
Data stored in

’t require maintenance of a schema.
)  “Simple DB” S/

i)  SQL server

iiiy  Storage iv) Hardware

Implemetiting W scam,ler is a tool that can scan an entire systelmfor

known vulnerabilities,

: o’ - .

i)  Malware N ii) Vulnerability -
Sy s,

i)y, Worm

Describe in detail about cloud service Mo

with example’s. [10]

computing with suitable example.



03) a)

b)

04) a)

b)

05) Suggest the cloud computmﬁg
Industry
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What is Hypervisor & explain its types with example. [5]

[5]

Differentiate be"fweén SOAP and Restful webservices (REST) [5]

P
\«&‘s*
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Dif} éentzate between Multi - core Architecture & Multi * cloud

Enwir onment m - [5]

5]
What is parallel programming? [S]
Explaln cloud Migration stratg, [5]



